(RN
<

a(6 @) (rad)
a(d cot(B))
S

=
<
N

................................................

ci.aoe +JI§ 1072

__:é
B
e

1073

=
S
w
T
—
——
T T

1074

SO D WERUD. | UV SOV [t SO SNV | RN R

i) [ §e] [
[ | PP IO PP ¥ - IS r 2| [+
o - o L
: 1__ ------ =1, - :Hr -----------------------
P (RREFEERPEPPRET X - TP PETP R EPPREPPRE r T[T
L . e C :

0.95

=
o
iN

-1 2 3
10 1 TPlpoT (PCA 16 beamiinéf 1

:D'Q‘lmm_lowrt
—e— DOQM_XiMinus_newbranch_lowpt
—— DQM_XiMinus_original_lowpt_pLess
—— DOM_XiMinus_newbranch_lowpt_pLess

1071 1 107 1

~ 1 —10
£ E 5 - 10 Lk
o r . h o F . H
= u : = C +¢:+ T
2 T : : o} s £
PO RPCPTR SR S o, i)
g E : : : B1O o HIF AR
u Longie, : : F : : :
: el : - : : :
102k oo T s I 5 5 5
2 e T | e
107 - s
10—4:_.15?1!.. .........................
107 E “
o s vl L o108l L L
g f 5 3 5
e B A N R EEEEREREReE e B S I
- e 111111 A
2 3
TPl[g)T (PCA f%)obeamlinép

2 3
TPl[g)T (PCA f%)obeamlinép




	Contents
	Page 1


